DIFFERENT               NOTATIONS 

IDENTICAL      PRESENTATIONS


We are going to show here an example of two distinct notations that yield identical link presentations. This is not due to a change of starting point and/or orientation, as was the case with knots, but due to a different selection of segments that have to be combined in order to yield the notation. These are the two notations:

A:
{ (1,4), (3,8), (5,10), (7,2), (9,12), <11,6> }


B:
{ (1,4), (3,8), <5,10>, (7,12), (9,2), (11,6) }


Now we show how these notations yield identical link presentations.



Notation   A


                                                (9,12)

                                                       

                                                         
                                                (5,10)                    <11,6>

                                                                 (1,4)


                                                                            (7,2)



                                                                                           (3,8)



Notation   B




                                         <5,10>

                                                                      (11,6)


                                     (1,4)                                  (7,12)

                                                                         (9,2)

                                                  (3,8)

Back to http://www.inst.bnl.gov/~wei/link7.htm
